T2 0O4F%H (3AH) ek

<EB>
K4 BRERE | REXEE RE
FHiE BB 41,160 1,300 39, 860
W3 53, 460 53, 460
£8 BE 36, 860 36, 860
WF RE 36, 860 36, 860
il R 36, 860 36, 860
XB 91, 060 91, 060
Rk AE 58, 080 58, 080
INE AR 85, 160 85, 160
HH EER 65, 280 65, 280
A 8, 235 8, 235
fE#t BAF 1,700 1,700
#E B8 1,700 1,700
th¥ EX 1,700 1,700
E 39, 080 39, 080
Bk 2t 46, 960 46, 960
Bk RE 55, 980 55, 980
=2 B 1,150 1,150
T B8R 36, 860 36, 860
R BIX 40, 200 40, 200
g = 1,975 1,975
HE HE 1,700 1,700
BEA DBRER 640 640
36, 860 36, 860
| =gr 25 | 779, 520] 1,300 778, 220]
<EBR>
K& SHEERE | REXEE | MEHEE
R 3,915 3,915 0
i EN 3,915 3,915 0
AXB FE 8, 281 8, 281 0
INE  BUE 6, 320 6, 320 0
B B 2,657 2,657 0
M= 1,665 1, 665
FHE BT 999 999 0
EE RS 3,915 3,915 0
BEFA 24, 624 24, 624 0
RI # 4,692 4,692 0
£F EA 2,620 2,620 0
TE 5,208 3,508 1,700
AO B 3,915 3,915 0
—E = 1,295 1,295 0
%k BAE 2,953 2,953 0
| #%5 A5 | 76, 974] 73, 609] 3, 365]




< ZFHEB>

K% BEERE | REXEE | FEHES
BB B 3,915 3,915 0
FER XK 4. 803 2,620 2,183
L\ EiE 2,657 2. 657 0
| INEE | 11, 375] 9,197] 2,183]
<R IRESHRER >

K% BEERE | REXEE | FEHESE
AR EfE 1,739 1,739 0
L 7,132 5, 432 1,700
FHE &% 1,700 1,700
B 1,700 1,700
| INET | 12, 271] 7,171] 5, 100]
<FRRREEI>

K% BEERE | REXEE | FEHES
=K E= 3,915 3,915 0
B =8 740 740 0
EB BX 200 200 0
AR EA 200 200 0
KB & 1,060 1,060 0
D $E 6, 320 6, 320 0
| INET | 12, 435] 12, 435] 0]
<N\EY>

K% BEERE | REXEE | FEHES
HE B 2,620 2. 620 0
FF £57F 1,700 1,700
A #{F 4. 322 4. 322
BT £8% 3,915 3,915 0
| INET 12, 557] 6, 535| 6, 022]
<BRER T°FEM (FTJ& : RRE T >

K% BEERE | REXEE | FEHES
=iE Eth 51,520 51, 520
| INET | 51, 520 0] 51, 520]
<FEEHEI) >

K% BEERLE | IREBXRE | IEHHES
FIE EHF 4,322 4,322 0
BR BF 4 322 4322 0
| INET | 8, 644] 8, 644] 0]
[aAT+h)LEE | 108, 802] 43, 977] 64, 825]




<FHEH>

K4 BRERE | REXEE | HIRHHEE
hi &EF 1,739 1,739
A& KE 16, 540 16, 540
B T 16, 540 16, 540
gk &N 3,508 3,508 0
Mgk EHF 200 200 0
HBE B 2,160 2,160 0
INKE EET 3,915 3,915
ik BER 30, 240 30, 240
EB T 3,915 3,915 0
B 5F 3,915 3,915 0
ke EBE 3,323 3,323
A0 RmE 28, 540 28, 540
B EF 3,730 3,730 0
I BT 2,620 2,620 0
R BT 3,915 3,915 0
| &#&% a5t | 124 800 23,963] 100, 837]

355

ieE #S51| 1.090,096 142,849 947,247




Tt 2 0465 AEHIREATH)

<EH>
K& SHEBERE | REXAE &
s BE 400 400 0
HE B2 18, 860 18, 860
EGEESS 18, 860 18, 860
RE R 18, 860 18, 860
A% @l 25,160 25, 160
XE& M 29, 820 29, 820
S5 KA 23,760 23, 760
HBE B8 64, 100 64, 100
SIS 63, 060 63, 060
BE B4 200 200 0
FRER £ 37,280 37,280
R B 50, 380 50, 380
ik mE 87,420 87,420
Sz B 122,840 122, 840
T 28, 440 28, 440
IR KH 28, 440 28, 440
Mg AR 650 650
Bt =X 39, 840 39, 840
R BIX 1,073 1,073
WHE R 55, 320 55, 320
A 23, 760 23, 760
WA K 19, 360 19, 360
ML —2 55, 960 55, 960
TR & 36, 840 36, 840
kg XE 64, 880 64, 880
36, 860 36, 860
23, 760 23, 760
| =47 24 976, 183) 600] 975, 583]




<FzHBB>

K4 REERE | KREXARE &
R 8, 230 8,230 0
Bk =0 3,478 3,478 0
=5 & 2,731 2,731 0
AT 3,508 3,508 0
—FH Bz 3,033 3,033 0
AH HE 13,270 13,270 0
Bk AR 3,915 3,915 0
ik EZ 3,915 3,915 0
M 3,915 3,915 0
XEH B= 7,830 7,830 0
A 5, 654 5, 654 0
A0 B 3,915 3,915 0
&F EA 3,508 3,508 0
EE 8, 608 8, 608 0

200 200 0
| #z55 =i | 75, 710] 75, 710] 0]
< FEEIE >

K4 REERE [ REXEE [IkE
INE BT 10, 480 10, 480 0
| e | 10, 480| 10, 480] 0]
< RmAHEREER >

K4 REERE | KREXARE &
Fihil &E 24,160 24,160
BE EE 37, 060 37, 060
BE 2% 26, 160 26, 160
Bk % 23,760 23, 760
=m = 24,160 24,160
| INEL | 135, 300] of 135, 300]
<EREWREE >

K4 SEFEKRE | REXEE RE
B 2,331 2,331 0
l INVET | 2, 331] 2, 331] 0l
<UYNEU>

K4 REERE | KREXARE &
X B 1,700 1,700
tTH —ik2 1,700 1,700
=M 1,000 1,000
BA /T 1,700 1,700
LA & 2,183 2,183

NG 8, 283 o] 8, 283|
<BEEIFEm (FrlE : mEED >

K4 SEFEKRE | REXEE RE
Gl Er 11, 745 11,745 0
| INET | 11, 745] 11, 745] 0]
<EEE>

K4 REERE | KREXARE &
Kt s 8,526 8,526 0
l INEL | 8, 526| 8, 526 1|
<KEETHEI) >

K4 SEFEKRE | REXEE RE
5EH & 7,860 7,860 0
l INVET | 7, 860] 7, 860] 0l
|larF«h&5t] 184, 525] 40, 942] 143, 583]




<F#H>

K4 AHEERE | REXABE &
EH BT 200 200 0
Ny EEF 32, 440 0 32, 440
% B8 91, 660 91, 660
bESE B8 104, 760 104, 760
2l 5, 240 5, 240 0
WiE S 5, 240 5, 240 0
WE 8 5, 240 5, 240 0
rE BET 4,811 4,811 0
NE EE 5, 240 5, 240 0
#e HE 4,730 4,730 0
@ BZ 5, 240 5, 240 0
N 5, 240 5, 240 0
M T 5, 240 5, 240 0
5 BT 6, 535 6, 535 0
I% BT 5, 240 5, 240 0
MR D% 5, 240 5, 240 0
N 2,620 2,620 0
Al EX 2,620 2,620 0
SEE KR 5, 240 5, 240 0
RE # 5, 240 5, 240 0
ik B 5, 240 5, 240 0
BE BF 5, 240 5, 240 0
BE B 5, 240 5, 240 0
H mET 5, 240 5, 240 0
EEE 5, 240 5, 240 0
=H &T 6, 535 6, 535 0
Bl REER 5, 240 5, 240 0
| B aat | 345 901]  117,131] 228, 860]
4845
IREHSE 1,582,409  234,383] 1,348, 026




FR20FE BEKE

Bil] E2:L] WREXBEE
TR *Rk EME 54,758
fEIRS=NE |BAh &' 82,430
ErsE |[BF FX 63,180
HhiIgERS (58 =2 96,478
FEFIER FA 129,719
hRBFHREER B 64,860
hRMSHRE| TE R 115,465
ERERIREES (Il thE— 64,860
ERIREESD (VR BE 56,860
ERERIRES (FH A 55,646
FETHI (EE P 49,280
Hagsts— | BB X 48,239
R #wE Rz 48,010
B3 INEE B 48,610
H7ME i HXK 48,610

15



Tt 2 046 AEHIEGHS)

<EH>
K4 SHEFERE | REXAE &

s BE 72, 560 200 72, 360
W s 51, 340 51, 340
&S = 49, 960 49, 960
Bl B= 36, 230 36, 230
R BE 25,330 25, 330
HE B2 36, 860 36, 860
EGEESS 49, 960 49,960
L& &8 23, 760 23, 760
WF RE 63, 060 63, 060
I E 36, 860 36, 860
mgE BE 85, 200 85, 200
& B2 57,040 57, 040
mO T 99, 260 99, 260
Bk BB 112,220 112, 220
2L 1 54, 300 54, 300
hf & 22,900 22,900
g EX 1,700 1,700
A Fht 79, 640 79, 640
EE B4t 72, 360 72, 360
*xM &= 46, 000 46, 000
PRER £ 1,700 1,700
R BE 55, 800 55, 800
Mg A% 50, 910 50, 910
Bt 2R 54, 780 54, 780
R BIX 95, 900 95, 900 0
= 1,665 1,665 0
WA K 1,700 1,700
ik 5T 29, 320 29, 320
ML —2 55, 980 55, 980
JEE STk 3,138 3,138
kg XE 2,620 2,620
&g T 29, 800 29, 800
67, 800 67, 800
63, 060 63, 060
113, 620 113, 620
23, 760 23, 760
95, 320 95, 320 0
2,620 2,620
| =7 25 | 1,826,033]  193,085] 1,632 948|




Tt 2 046 AEHIEGHS)

<=EHRH>
K4 SEFERE | REXAE &

HE 10, 724 10, 724 0
“iE =0 6, 135 6,135 0
=% & 2,331 2,331 0
=N BN 3,508 3, 508 0
AH %EF 11,745 11,745 0
K B2 2,883 2,883 0
FiE 1EX 2,657 2,657 0
B AR 4,115 4,115 0
AH RE 3,915 3,915 0
fEE & 1,739 1,739 0
% = 25, 380 25, 380 0
=0 4,115 4,115 0
B % 9,015 9,015 0
0
88, 262] 88, 262] 0|




Tt 2 046 AEHIEGHS)

K4 SEERE | REXBE| KB
HE £ 3,080 3,080 0
= E2 3,915 3,915 0
HE AR 2,620 2,620 0
AN FE 7,830 7,830 0
NG BT 7, 860 7, 860 0
| NG | 25, 305| 25, 305| 0|
< R R FRETHRER >

K4 SEERE | REXBE| KB
EF Eth 1,776 1,776 0
HE 260 50, 380 50, 380
B 2= 3,508 3,508
MED 3, 804 3, 804 0
| /VEt | 59, 468] 5, 580] 53, 888]
<BRRBREH>

K4 SEERE | REXBE| KB
KR FEF 3,915 3,915 0
EERELS 2,331 2,331 0
ALE £F 200 200 0
| INEF | 6, 446| 6, 446| 0]
<Yngy>

K4 SEERE | REXBE| KB
T £5F 3,064 3,064
| INEF | 3,064 0] 3, 064]
< ER PR T 6T (Fr R : mRER L) >

K4 SEERE | REXBE| KB
BE B 7,830 7,830 0
hE B 51, 460 0 51, 460
KB EL 1,332 1,332 0
| /VEt | 60, 622] 9,162 51, 460]
<EREl>

K4 SEERE | REXBE| KB
Xt @A 6, 900 6, 900 0
| INEF | 6, 900} 6, 900} 0]
<FEEEH) >

K4 SEERE | REXBE| KB
Wl =% 1,739 1,739 0
Ak HET 481 0 481
RS 7, 860 7, 860 0
| /VEt | 10, 080} 9, 599] 481]
[aA74hL &8 | 171,885 62,992] 108, 893|




Tt 2 046 AEHIEGHS)

<FEH>
K% SEERE | REXEE| KE

RH BT 3,730 3,730 0
K& RE 32, 440 32, 440
B 42 3,915 3,915 0
BA BRI 200 200 0
RE HF 3,915 3,915 0
Bt BET 3,915 3,915 0
TiE &R 2,620 2,620 0
W B 2,620 2,620 0
iR EX 2,620 2,620 0
INRE E£ET 7,830 7,830 0
FIER BRE 2,300 2,300 0
Mg T 2,620 2,620 0
wma ki 3,915 3,915 0
I BF 2,620 2,620 0
@n HEx 2,620 2,620 0
EiR mE 2,620 2,620 0
N B 2,620 2,620 0
a BEE 5, 462 5, 462 0
2/ BT 3,915 3,915 0
BH AT 3,915 3,915 0
MR T 2,620 2,620 0
WE & 2,620 2,620 0
R BT 2,620 2,620 0
® mEF 2,620 2,620 0
SEE kR 2,620 2,620 0
®E # 2,620 2,620 0
IR ES 2,620 2,620 0
#) $EE 2,620 2,620 0
tm EEF 1,540 1,540 0
Wl EK 2,620 2,620 0
MEE O EH 3,915 3,915 0
B RE 3,915 3,915 0
INE EX 2,620 2,620 0
MR BF 2,620 2,620 0
i AEF 29, 320 29, 320
Ba Mz 2,280 2, 280 0
EE R 2,620 2,620 0
=E T 2,620 2,620 0
2% i 2,620 2,620 0
D RER 2,620 2,620 0
NER BT 16, 540 0 16, 540
RE 9,192 9,192 0
| Bz ast | 202,414 124, 114] 78, 300]
5854

IRE #55 2,288,594 468,453 1,820, 141




Fa2 OF7A%#hRE (6 54)

<[EEh>
K4 EEFERE | REXBE RE
e BEE 69, 740 69, 740
£ = 1,100 1,100
Flll B= 2,827 2,821
=E B2 3,715 3,715
x5 BE 3,715 3,715
L£¥ &8 2,420 2,420
T RE 2,420 2,420
T = 1,100 1,100
BLbE 41,190 41,190
X5 M 46, 120 46, 120
Mk NE 22, 060 22, 060
e+t BA%I 103, 520 103, 520
* e 29, 600 29, 600
hE EX 1,500 1,500
)l K 39, 380 39, 380
IR FHH 37, 280 37,280
[RE BE 2,821 2,821
KE T 55, 980 55, 980
il & 23, 080 23, 080
R B 61,020 61,020
K% EM 3, 000 3, 000
WA #Hhth 37, 280 37,280
BRFE #X 3, 000 3, 000
FEl# B 127, 420 127, 420
e =i 62, 860 62, 860
| cE 37, 660 37, 660
HiE Ot 100, 080 100, 080
TH AR 67, 760 67, 760
%A HE 3, 000 3, 000
EH FX 96, 060 96, 060
YEE 39, 660 39, 660
AbE BEF 1,500 1,500
28,220 28,220
53, 180 53, 180
14, 080 14, 080
38, 160 38, 160
49, 760 49, 760

| =85 25 | 1,313 274] o] 1,313 274]




Fa2 OF7A%#hRE (6 54)

<=EHRH>
K& SHEFERE | REXAE &

%k =0 4,978 4,978 0
=% & 3,123 3,123 0
F AR 3,715 3,715 0
AH %EF 10, 612 10, 612 0
w3 B= 2,901 2,901 0
BE R 3,715 3,715 0
FiE 1EX 2,457 2,457 0
B AR 3,715 3,715 0
WA —s 1,500 1,500 0
NE XE 2,975 2,975 0
AO B 7,430 7,430 0
£F ER 2,420 2,420 0
B % 4,990 4,990 0
- & 1,184 1,184 0
49,760 49,760 0
0
| 238 25 | 105.475] 105, 475) 0|




Fa2 OF7A%#hr&E (6 5)

<EFIE>

K& SHEFERE | REXAE &
BH# $hk 5,215 5,215
N BT 5,878 5,878 0
| INE | 11, 093] 5,878] 5, 215]
< th R SHRER >

K& SHEFERE | REXAE &
1Bm 2 37, 280 0 37, 280
| /NG | 37,280 of 37 280]
<BRRIZREEH>

K& SHEFERE | REXAE &
Rl foE— 2,146 2,146
WE BT 5,728 5,728 0
Wi mE 37, 280 37, 280
HE AR 5,878 5,878 0
Wi T 3,715 3,715
ALE £F 3,715 3,715
#PE T 4,914 4,914 0
7 Bk 45, 360 45, 360
Lkt B 55, 520 55, 520
| IVt | 164, 256] 16,520] 147, 736]
<YNngy>

K& SHEFERE | REXAE &
i B 5,728 5,728 0
| /IVEt | 5, 728] 5, 728} 0]
<BRER TZ60 (FiE : mEELD >

K& SHEFERE | REXAE &
H# ER 5,878 5,878 0
| /NG | 5,878) 5, 878] 0]
<BRE >

K& SHEFERE | REXAE &
xith e 5,878 5,878 0
| /NG | 5,878) 5, 878] 0]
<KEEHEIH) >

K& SHEFERE | REXAE &
A BMETF 46,135 46,135
CEIE 5,878 5,878 0
| /IVEt | 52, 013] 5, 878] 46, 135|
[aA74hL &8 | 282, 126] 45 760] 236, 366|




Fa2 OF7A%#hRE (6 54)

<F#EH>
K4 BEERE | REXEE| KE

FH BT 7,430 7,430 0
Ny EBF 11, 300 9,990 1,310
PR T 18,723 16, 523 2,200
WE T8 6, 456 6, 456 0
RE BT 3,715 3,715 0
INEH THH 3,715 3,715 0
T 5,728 5,728
o BT 3,715 3,715
K& T 7,430 7,430 0
AT E# 7,430 7,430
BB M 7,430 7,430 0
Xz BT 215, 600 215, 600
%R EB 3,715 3,715
hgE O & 3,000 3,000
Al &F 45, 540 45, 540
=H MEF 45, 540 45, 540
s #F 7,430 7,430 0
nE = 3,715 3,715
i EET 29, 760 29,760
B BA 18, 860 18, 860
MR = 32, 440 32, 440
EERES) 7,430 7,430
FE AT 37, 080 37, 080
I BEF 50, 180 50, 180 0
| & a5t | 583.362]  120,209] 463, 063]




Fa2 OF7A%#hRE (6 54)

<BHEH> EHMTIL Y AHHE
K4 BEERE | REXEE &

#) $EE 2,420 2,420
WE & 2, 420 2,420
mE & 2, 420 2,420
INE EX 2, 420 2,420
B 2,080 2,080
Bn HEZ 2, 420 2,420
B mE 2, 420 2,420
mEE T 2,420 2,420
Wy K& 3,715 3,715
I% BF 2, 420 2,420
MR FE 2, 420 2,420
INE B 2,420 2,420
EE EX 3,715 3,715
e 2, 420 2,420
®E % 2, 420 2,420
P B 2, 420 2,420
TR EH 2, 420 2,420
"R R 2, 420 2,420
B mEF 2, 420 2,420
EF i 2,420 2,420
=E EF 2, 420 2,420
D RER 2,420 2,420
KiE BT 2,938 2,938
| = a5t | 58 428] of 58 428]
6545

IRE #S55F | 2 342,665 271,534] 2,071, 131




T2 04 8AZHIKETAH)

<[ERf>
K4 SEFRE | REXEE RE

FHE BB 1,073 1,073 0
i = 38, 980 38, 980 0

EBf &5 40, 053 40, 053 0
<EHRH>

K4 EEFERE | REEE RE

aH B 1,43 1,430 0
Pk BAE 1,430 1,430 0
AH RE 11, 796 11,796 0
a% B= 4,640 4,640 0
WiEED 4, 381 4,381 0
FHE £§ 3,715 3,715 0
HO Fit 1,184 1,184 0
REEH 5,215 5,215 0
NE XE 3, 345 3, 345 0
A0 B 26, 290 26, 290 0
i AEF 1,184 1,184 0
EF BA 2,420 2,420 0
"% 5,232 5,232 0
PIER  H#CF 1, 840 1, 840 0

E5k &5t 86, 102 86, 102 0




T2 04 8AZHIKETAH)

< EEFIER>

K4 BHEERE | KEXEE R&
B % 7,430 3,715 3,715

N 7,430 3,715 3,715
< RIRGTHERER >

K4 BHEERE | REXEE R&
£E #Hh 1,739 0 1,739

INEE 1,739 0 1,739
<BRRRHERE &>

K4 BHEERE | KEXEE R&
R hE— 0
A% V&F 1,184 1,184 0
Wil ¥ 15,120 15,120

INEE 16, 304 1,184 15,120
<BRIK TEm (F /R : FRERR) >

K4 BHEERE | KEXEE R&
BE TE 1,500 1,500
S BE 1,500 1,500

INEE 3, 000 0 3,000
<HR® >

K4 BHEERE | KEXEE R&
homE B 22, 660 22, 660

VL 22, 660 0 22, 660
<KEEEH) >

K4 BHEERE | REXEE R&
Ml =% 0
R 56, 720 56, 720
HE AR 1,184 1,184 0

VL 57, 904 1,184 56, 720
[2A74hL &5t | 109, 037] 6,083 102, 954|




T2 04 8AZHIKETAH)

<FHEH>
K4 EEFERE | REEE RE

ZH BF 6, 300 6, 300
My EBTF 38, 000 38, 000
O miEF 3,715 3,715
HO AXF 3,715 3,715
B HE 76, 360 76, 360
I 76, 360 76, 360
EHH# X 7,430 7,430
Bl RF 2, 864 2, 864
I WTF 3, 240 3, 240
ILH EF 3,715 3,715
Mg IEF 3,715 3,715
NI BF 3,715 3,715
HE RE 4, 366 4, 366
=8 HET 3, 000 3, 000
EH E 37, 280 37, 280
BR AETF 3,715 3,715
% BT 3,715 3,715
it FIF 50, 360 50, 360
B RF 3,715 3,715
At BEF 32, 840 32, 840
Wi t£50 36, 860 36, 860
BE 3,715 3,715
W BT 1,184 1,184 0
B T 50, 780 50, 780
B B 3,715 3,715
R T 1,184 1,184 0
K HEY 32, 440 32, 440
EH BXF 51, 300 51, 300
RE EF 51, 300 51, 300
KB NEF 3,715 3,715
O BEmE 3,715 3,715
BE % 27,180 27,180
EA EF 7,430 7,430
B 36, 860 36, 860
BiE EEF 6,100 6,100
\LE B& 32, 440 32, 440
mE BATF 4, 500 4, 500
4H LT 43, 060 43, 060
BB ®— 63, 880 63, 880
IV BT 40, 588 40, 588

B A& 870, 066 2,368] 867,698
=,z
[RE #4551 | 1,105,258 134,606 970, 652




T2 049 55 AZHIE(THH)

<ERf>
K% EEFERE | REXABE RE

iG] 24, 540 24, 540
L5 5B 317,260 37,260
UT RE 317,260 37,260
HLLE Ml 1, 500 1,500
migE NE 1,550 1,550
IS 4, 366 4,366
B 23, 740 23, 740
g B 14, 480 14, 480
#E &R 3, 000 3, 000
WE EA 37,280 37,280
INAAR B— 10, 640 10, 640
IR 14, 440 14, 440
AH HE 49, 340 49, 340
[RE A% 91,280 51,280
N 80, 200 80, 200
HO EE 94, 990 94, 990
R B 25, 263 25,263
Fik FH 1, 500 1,500
=g 317,280 37,280
fEl# BIXX 2,200 2,200
g FH= 1,430 0 1,430
faiE HAR 3,715 3,715
= 3,715 3,715
E AR 95, 720 99, 120
it & 49, 960 49, 960
1B BRAHER 36, 860 36, 860
ML =2 44,380 44,380
25, 960 25, 960
49,760 49, 760
37,260 37,260
EBf &5 992, 869 0 992, 869




T2 04 9H0BZHHEGHS)

< [ERh>
K4 BEFEKRE | REXEE =

fHE EE 36, 027 2,827 33, 200
HE M 28, 520 28, 520
A Ml 9, 860 9, 860
H3 HA 7,430 7,430
h% FX 1,840 1,840
X% TR 48, 220 48, 220
Pk %E 49, 380 49, 380
AR #x 32, 000 32,000
WE HEEF 17, 300 17,300
R# B 3,271 3,271
miE R 66, 760 66, 760
R 37, 680 37, 680
RE WS 29, 720 29,720
EE WA 31, 660 31, 660
=% BAS 37, 680 37, 680
EH % 23, 480 23, 480
RH# i 37, 680 37, 680

EEF 25t 498, 508 2,827 495, 681
<BBHRH>

K4 BEFEKRLE | REXEE RE

SE 3,715 3,715 0
®EE =0 3,478 3,478 0
P aE 3,715 3,715 0
AE HE 1,184 1,184 0
% = 444 444 0
INE XE 2,975 2,975 0
AD B 3,715 3,715 0
&7 & 7,689 7,689 0
tE g 6,616 6,616 0
B B 5,728 5,728 0
—E o2 24,812 24,812 0
%k 5aB 3,715 3,715 0
KE A 17, 640 17, 640 0
=H = 23, 480 23, 480 0
| 255 25 | 108,906] 108, 906] 0]




T2 04 9H0BZHHEGHS)

< EEHKIE >

K4 BEFEKRE | REXAE R&
B Bk 2, 494 2,494 0
| N | 2, 494) 2, 494] 0]
< R REHRER >

K4 BEFERE | REXAE R&
EF Eth 50, 360 0 50, 360
i B 6, 120 6, 120
tBE B 1,850 1,850
IR B 1,500 1,500
| /vEt | 59, 830] of 59 830
<BRERBREER>

K4 BEFERE | REXAE &
B BE 37,680 37,680
L 29, 720 29, 720
HE T 3,086 3,086
| /vEt | 70, 486] of 70, 486
<UNEY>

K4 BEFERE | REXAE &
T £87F 23, 480 23, 480
| /vEt | 23, 480] of 23 480
<ERF>

K4 BEFERE | REXAE &
Mk EE 2,938 2,938 0
| /vEt | 2,938] 2, 938] 0]
[2A74hL &5t 159, 228] 5432 153, 796]




T2 04 9H0BZHHEGHS)

<F#EH>
K% SHEFERE | REXBE wE

EH B¥ 31,110 3,715 21,395
hit FEF 1,739 1,739 0
Ak E=F 32, 840 32, 840
HE =R 1, 500 1,500
& MBE 1, 500 1,500
Kk BER 1, 500 1,500
INE FER 1, 500 1,500
R 8% 32, 840 32, 840
ol &F 1,430 1,430
A K% 317,680 37,680
D BT 1,430 1,430
g EXF 1,430 1,430
Ng BF 4,840 4,840
KfE EH 1,430 1,430
B’k RF 3,715 3,715
WA XI4F 2,109 2,109 0
Kz BGF 177,130 177,730
=W 32, 840 32, 840
Fh /K 3,715 3,715
¥ BE 32, 840 32, 840
e #=F 1,430 1,430
a5 AR 32, 840 32, 840
£y SRS 3,715 3,715
== R¥ 317,560 37,560
Km BFF 1,430 1,430
w aF 3,000 3,000

BiEE S5t 521, 693 1,563 514,130
8571
wE 55 1,288, 335 124,728] 1,163,607




T2 0108 L H B (9F )

<EEh>
K# BEFRE | REXEE RE

FHE EE 30, 860 30, 860
EER B2 1,500 1,500
EEN 1,500 1,500
L% B 1,500 1,500
Flll B= 22, 660 22, 660
mEE NE 23, 080 23, 080
¥ EX 1,840 1,840
XE THl 31,680 31,680
Fik 55 14, 680 14, 680
R B 45, 360 45, 360
fEl# B3 4, 371 4,371
g E= 2,420 2,420
FEiE HAE 3,715 3,715
WE =i 2,420 2,420
WA S48 26, 780 26, 780
TH AR 36, 540 36, 540
&t RA 23,900 23,900
2H 57 68, 800 68, 800
M -2 36, 540 36, 540
EE M 49, 960 49, 960
=F EXB 2,420 2,420
A% E#E 2,420 2,420
ZH B 2,420 2,420

| = 25+ | 437 366) of 437 366]




T2 0108 L H B (9F )

<EHH>

K4 AEERE | REXEE &
“E =R 1,739 1,739 0
AEH %£F 8,318 8,318 0
EE HE 1,776 1,776 0
W\ —g 2,753 2,753 0
B Sl 3,715 3,715 0
BEE 1,739 1,739 0
NE XE 7,430 7,430 0
EF EAX 4,840 4,840 0
HE 3,308 3,308 0
e 1,295 1,295 0
| 255 24 | 36, 913] 36, 913] 0]
<EFlE >

K# AEERE | REXEE &
B# $hk 37, 280 37, 280
BE B2 66, 500 66, 500
i BE 1,340 1,340 0
ENE FE 7,430 7,430
| N | 112, 550] 1,340 111, 210|
< RIRSHRER >

K4 AEERE | REXEE &
£E #ith 1,739 0 1,739
e &% 87,590 87, 590
Bt %= 22, 680 22, 680
[ NGt | 112,009 of 112 009
<EGEREEER>

K# AREERE | REXEE &
#O %7 2, 864 2, 864 0
| INEt | 2, 864) 2, 864] 0]
<Uney>

K4 AEERE | REXEE &
EAt B 1,500 1,500
=E 0 1,000 1,000
| INEt | 2, 500] 0] 2, 500]
<EgFR T ZFEh (FT/E : mEREL >

K4 AEERE | REXEE &
BiE B 11, 360 11, 360
[ NGt | 11,360 of 11,360
[2A74h &5 | 241,283 4,204]  237,079|




T2 0108 L H B (9F )

<FH#EH>
K# BEFRE | REXEE RE

EH B¥ 3,715 3,715 0
My EXEF 1,998 1,998 0
Pt FF 3,478 3,478 0
B BHEF 1,430 1,430
T# Fiz 3,715 3,715
Bt TR 43, 060 43, 060
WE BXF 32, 440 32, 440
B ER 3,715 3,715
P 5F 43, 060 43, 060
R# A 3, 086 3, 086
=R X5F 3,715 3,715
FIER BRE 2,100 2,100
BHE T 2,420 2,420
B B 65, 180 65, 180
ELE:Es 1,430 1,430
| F2 3, 086 3, 086
K HEF 3,715 3,715
mEE Fi 3,715 3,715
il ER 2,420 2,420
ML O3 2,420 2,420
g BhAF 3,715 3,715
#H BF 1,430 1,430
Bk TE 36, 880 36, 880
GRS 3,715 3,715
FEs BiE 2,864 2,864
g HkF 2,420 2,420
ES L 3, 000 3, 000
Bl AT 2,531 2,531
Kea & 3,715 3,715
W B 2,420 2,420
B2k EBEE 1,430 1,430
BE 1EE 2,864 2,864
fElE B 2,420 2,420
A 2% 2,531 2,531
B RE 3,715 3,715
Foh /K 1,430 1,430
NI BEE 3,715 3,715
IWE  ERE 2,864 2,864
FX =5 2,420 2,420
E= B 2,420 2,420
Fik & 3, 000 3, 000
&H B 1,430 1,430
KE BERXE 2,864 2,864
KE BT 2,821 2,821
&M XHE 4,840 4, 840
NiER BF 37,080 37,080
Rk XxF 3,715 3,715




T2 OF10A5HEGAS)

=R B 3,715 3,715
TN #oE 2,420 2,420
MT T 3,715 3,715
HE AKX 2,938 2,938
4@ BNF 81, 800 81, 800
FE BT 72,700 72, 700
INE AT 2,864 2,864
| Zssm a3t | 580, 309 9,191 571,114
(2)=ba)

IRE K55 1,295, 867 50, 308| 1, 245, 559




F2 0F 1 1 AX#EE(T 054)

<[ERfi>
K& EHERE | REXEE | AEFEE
8 BE 55, 560 55, 560
ES 1= 63, 480 63, 480
FlIl B= 50, 170 50, 170
=E B 37, 280 37, 280
EGEELS 37, 280 37, 280
£5 mE 50, 380 50, 380
L5 &8 37, 280 37, 280
B 36, 860 36, 860
T RE 37, 280 37, 280
BI BT 37, 280 37, 280
BLE Al 1,500 1,500
KB A 64, 940 64, 940
i 2E 1,500 1,500
TER B3R 46, 760 46, 760
B3 KA 26, 580 26, 580
A BE 1,500 1,500
BB EA 24,120 24,120
h% EX 64, 980 64, 980
Sl 85, 640 85, 640
IR FH 56, 020 56, 020
EERESS 55,810 55, 810
RE B4E 3,710 1,100 2,610
A 7 39, 860 39, 860
G MLl 70, 060 70, 060
% EX 51, 360 51, 360
R 76, 880 76, 880
P RE 3, 000 3,000
B L 3, 000 3,000
M 43, 060 43, 060
R KH 43, 060 43, 060
R B 50, 380 50, 380
s = 82,515 82,515
B E 57, 200 57, 200
Bt RA 4,500 4,500
i A% 49, 960 49, 960
B HRAES 36, 860 36, 860
1 HE 1,500 1,500
XIE RETF 49, 400 49, 400
37, 280 37, 280
4,500 4,500
37, 280 37, 280
5,515 5,515 0
37, 400 37, 400
49, 400 49, 400
| =gr 25 | 1,709, 880| 6,615] 1,703, 265]




F2 0F 1 1 AX#EE(T 054)

<EBHRH>

K4 BEFERE | REXBE | IEHEE
e 7,430 7, 430 0
B 3,478 3,478 0
Pl A 3,715 3,715 0
AE RE 2,271 2,277 0
—H B2 5, 065 5, 065 0
BEE B 3,715 3,715 0
W s 25,279 25,279 0
AD B 3,715 3,715 0
£F i 888 888 0
HE 8,592 8, 592 0
- g 999 999 0
®E 5AE 3,863 3, 863 0
=H AF¥ 22, 660 22, 660 0
| #z55 2 | 91, 676] 91, 676) 0|
< EHIEB>

K4 BEFERE | REXBE | IEHEE
=E B2 64, 880 64, 880
HE 2,864 2,864 0
| NGt | 67, 744] 2, 864 64, 880]
<BRIRIREER>

K4 BEFERE | REXBE | IEHEE
NB BT 64, 880 64, 880
wH BE 3,715 3,715 0
HF T 36, 860 36, 860
| INEt | 105, 455| 3,715] 101, 740|
<UNneEU>

K4 BEFERE | REXBE | IEHEE
BE AR 3,715 3,715 0
T £EF 1,628 1,628
| /IvEt | 5, 343| 3,715] 1,628]
<FKEEEE) >

K4 BEERE | REXEE | IRAHEER
TEES 26, 380 26, 380
[aAF4h &5 | 204,922 10,294] 194, 628]




F2 0F 1 1 AX#EE(T 054)

<FEH>

K4 SHEKRE | REXEE | IRAHEE
EM BT 7,430 7,430 0
WE TE 27, 380 27,380
A% KE 14, 280 14, 280
w3 T 14, 280 14, 280
B BET 14, 280 14, 280
P 5T 3,715 3,715
RE 8T 3,715 3,715
xE TUF 14, 280 14, 280
BT #oF 17,995 17,995
WE kB 19, 200 19, 200
INRE EET 3,715 3,715
A% my 2, 864 2,864
P ES 3,715 3,715
B IE 70, 560 70, 560
k= 3,715 3,715 0
e &7 70, 560 70, 560
W HEY 19, 200 19, 200
WA FE 3,715 3,715
XE BH 2, 864 2,864
s BE 2,531 2,531
RE R 2, 864 2,864
AR mE 3,715 3,715
2@ BT 3,715 3,715 0
FEN 2, 864 2,864
= A 18,077 18,077
e EE 3,715 3,715
=% XM 3,715 3,715
WA T 53, 350 53, 350
I ERT 3,715 3,715
54 Mk 2,420 2,420
Nt HF 27, 420 27, 420
T 2,420 2,420
Bl EE 27, 380 27, 380
wE B 3,715 3,715
WE #F 3,715 3,715
& EmF 32, 440 32, 440
N B 2, 864 2,864
T BT 3,715 3,715
ERE HCH 3,715 3,715
iy AETF 3,715 3,715
BAR BT 10, 244 10, 244
B B 7,430 7,430
27 &% 3,308 3,308
EH BXT 3,715 3,715
A% 5% 3,715 3,715
A T 45, 980 45, 980
Wi Som 3,715 3,715
NER BT 60, 860 60, 860
=% 87 36, 960 36, 960
R A 49, 400 49, 400
=E BT 27, 380 27,380
2K BT 3,715 3,715
B R— 57, 680 57, 680
FH AT 60, 700 60, 700
| Zamg a5t | 904 045] 14,860] 889, 185]
1085
e #Sst | 2910503 123,445 2,787,078




F2 0F 1 2 /AX%#wE (11H5) &5

<[EAm>
K4 EEFERE | REXBE | IEWER
115 BB 2,390 2,390 0
MA A 640 640
£E% - 1,500 1,500
EE B2 55, 920 55, 920
=85 BE 2,183 2,183
L% 5—ED 1,500 1,500
HELE Ml 29, 980 29, 980
XE M 650 650
mikE NE 1, 100 1,100
#MeE &8 2,420 2,420
3 31,920 31,920
h¥ EX 1,500 1,500
hE  RF 49, 760 49, 760
[RE B%E 18,474 18,474
Fik 758 98, 870 98, 870
il & 50, 180 50, 180
R 41,160 41,160
ik FH 31,020 31,020
fEl# Bl 26, 889 1,073 25,816
e = 10, 244 10, 244
FiatE MR 29, 880 29, 880
e = 40, 960 40, 960
mE 244 85, 420 85, 420
&t ]A 31, 440 31,440
N T4 2,420 2,420
&2 ¥ 45, 340 45, 340
YEH ST 39, 240 39, 240
EBE XE 50, 380 50, 380
ER sl 50, 180 50, 180
317, 280 317,280
41,160 41,160
710, 840 10, 840
29, 880 29, 880

Efr &5t I 1, 100, 440 3,463] 1,069, 257




F2 0F 1 2 /AX%#wE (11H5) &5

<EHBRH>
K4 BHBERE | REXEE | IRTEER
HE B 44,115 44,115 0
%k = 3,478 3,478 0
B AE 3,715 3,715 0
AH £ 2, 420 2,420 0
WE E7 15, 000 15, 000 0
WA —f 12, 664 3, 604 0
e 7, 859 7,859 0
NE XE 2,975 2,975 0
£F BEA 888 888 0
B % 3,308 3,308 0
—E 2 4,344 4, 344 0
%% BaS 999 999 0
15, 000 15, 000 0
| zms 27 | 116,765] 107, 705] 0|




FZ2 0F 1 2%0mE (11547) &7
< EHIEB >

K4 BHBERE | REXEE | IEMEE
B Bx 23,080 23,080
HE A2 23,080 23,080
EXt FE 23,080 23,080
A @ 2, 864 2, 864 0
| N | 72,104] 2, 864] 69, 240|
< FR R FRSTHRER >

K4 BHBEKRE | REXEE | IEMEE
I A 800 800 0
% B 1,500 1,500
| NGt | 2, 300] 800] 1,500}
<BRERREER >

K4 BHBEKRE | REXEE | IEMEE
K BiZ 3,715 3,715 0
R T 43, 580 43, 580
KR FEF 37, 280 37, 280
W B5 3,715 3,715 0
B BT 37, 280 37, 280
| NGt | 125,570] 7,430 118, 140]
<UneEY>

K4 BHBEKRE | REXEE | IEMEE
A0 &8 7,430 7,430
T £5F 8, 592 8, 592
| NGt | 16, 022] 0] 16, 022}
<EGPR T8 (Fr 8 : mEREL >

K4 BHBERE | REXEE | IETEER
hE I 1,500 1,500
&5E EX 1,500 1,500
| /vEt | 3, 000] 0] 3, 000}
<% >

K4 BHBERE | REXEE | IRTEER
fBE A7 49, 960 49, 960
| /Ivat | 49, 960| 0] 49, 960|
<KFEEHELH) >

K4 BHBERE | REXEE | IETEER
W =% 6, 420 6, 420
AH EBTF 6, 120 6, 120
[aAFqn a5 | 281, 496] 11,004 270, 402]

78



T2 0&F 1 2 Ax#wE (1155) &7
<FHEH>

K& SEERE | REXERE | IRHEE
EM BT 43, 595 3,715 39, 880
WE FE 18,715 18, 715 0
®il %F 3,715 3,715
AT TUF 2 864 2,864
B OER 48, 620 48, 620
BE BET 3,715 3,715
INKE EET 3,715 3,715 0
mOEE 39, 200 39, 200
i = 3,715 3,715
FEE  F3A 38, 340 38, 340
i 57 2,420 2,420 0
i £ 2,420 2,420 0
e BEE 2 531 2,531 0
2@ BT 42, 055 3,715 38, 340
e ETER 3,715 3,715 0
=% —4 3,715 3,715
%% FE 3,715 3,715
HE =7 3,715 3,715
28 SEFE 2 864 2,864
Mg V& 3,715 3,715 0
¥ =mid 3,715 3,715
tE FEF 36, 880 36, 880
BN B 9,319 9,319
&HE = 1,500 1,500
IR BEF 5,728 2. 864 2,864
&R =# 555 555 0
| Bmw ast | 334, 756 48,080] 286, 676]
1185

RE 55 1,833,457 170, 342| 1,626,335




Ft2 14 1 AHHB(1254)

<[EEn>
K# BHEFERE | REZEE RE
= 1,500 1,500
EREESS 1, 500 1,500
5 BE 2,183 2,183
HLE Bl 39, 860 39, 860
B gz 2, 420 2,420
#E BE 1,500 1,500
o EE 32, 320 32, 320
IR B~ 54, 940 54, 940
hE  R®F 35, 600 35, 600
A T 1,280 1,280
R B 46, 160 46, 160
AR B 58, 600 58, 600
TEE R 63, 340 63, 340
Bt RA 23, 280 23, 280
WE HE 1,500 1,500
L@ X 1,500 1,500
M —2 32, 320 32, 320
22, 660 22, 660
1,500 1,500
| =67 25+ | 423 963] o] 423 963}




Ft2 14 1 AHHB(1254)

<E=HRH>

K& AEFRE | REXEE &
w0 8, 695 8, 695 0
P AE 3,715 3,715 0
#=Il B 3,308 3,308 0
AH %E 3,715 3,715 0
=4 BZ 1,850 1,850 0
TEEE 3,715 3,715 0
Wk 2 3,715 3,715 0
BEE B 4,566 4,566 0
We = 5,180 5,180 0
INE KE 3,345 3,345 0
AO B 5,380 5,380 0
£F A 2,420 2,420 0
tE 7,615 7,615 0
“Ek B6E 2,827 2,827 0

2,530 2,530 0

| =25 2& | 62, 576| 62, 576| 0]
< ZEHIEB >

K& AEFRE | REXEE &
Bl HX 3,715 3,715 0
HAE AR 37, 600 37,600
EAS FE 29, 320 29, 320
| NG | 70, 635] 3, 715] 66, 920|
< RRSTERED >

K& AEFRE | REXEE &
fEE BH 5,047 5,047 0
| NGt | 5,047] 5, 047| 0|
<BERREEE >

K4 BEEKRE | REXEE &
EHH AR 27,660 27,660
| i | 27,660 of 27 660}
<YNEY>

K& AEFRE | REXEE &
T £857F 740 740
| INEt | 740] 0] 740]
<BER LA (FT/E : RRERR) >

K4 AEFRE | REXEE &
hE I 1,500 1,500
[2A7sh&E | 105 582] 8,762| 96, 820]




Ft2 14 1 AHHB(1254)

<FHEH>
K4 BEFEKRE | REXEE RE

ALE kE 23,080 23, 080
FRE TE 3,530 3,530
mF BT 31,260 31, 260
WA 5T 29,320 29, 320
A EE 3,715 3,715 0
nER BF 23,080 23, 080
ik B 32,240 32, 240
K HE 3,715 3,715
2X BF 32, 440 32, 440
| B a5t | 182 380 3,715] 178, 665]
12587

B #EE 774, 501 75,053] 699, 448




Frc2 142 AZHhwE (145)

<[EEn>
K# SHFRE | REXEE RE
x5 i 32, 270 32, 270
it 1% 42, 540 42, 540
¥ EX 54, 220 54, 220
hEH BT 44,100 44,100
i 58 55, 760 55, 760
B B 2,628 2,628
AR B 2,780 2,780
+E % 1,500 1,500
Rk XE 56, 960 56, 960
| =5 25+ | 292 75 of 292 758
<E=HH>
K4 BEFERE | REXEE RE

PR 11,145 11,145 0
P hE 3,715 3,715 0
FE B 3,715 3,715 0
JIE JE 3,715 3,715 0
P X 2,457 2,457 0
g SR 26,019 26,019 0
INE XE 3,715 3,715 0
AD B 26, 795 26, 795 0
£F EA 2,420 2,420 0
R 3,308 3,308 0
NN 450 450 0
| =35 25 |  87,454] 87 454 |




Frc2 12 A& (145)

< h RERGHRED >

K4 SHBERE | REXARE W&
R Eth 1,500 1,500
HE % 1,500 1,500
[ /vEt | 3, 000] 0] 3, 000]
<YNEY>

K4 SHEKRE | REXBEE wE
T £57 1,500 1,500
[ /vEt | 1,500} 0] 1, 500}
- 4, 500] 0| 4, 500]
<FHEH>

K4 BHFAEKRE | REXBEE &
WE T8 3,715 3,715
BR BE 3,715 3,715
B T 2,864 2, 864
R KRS 3,715 3,715
INE BETF 3,308 3,308 0
| B&sm a5t | 17, 317] 3, 308] 14, 009]

155

IRE M55 402, 029 90, 762 311, 267




Frc2 1 £33 AZXHhwE (245)

< Efh >
K4 BHEFAKRLE | REXBE | ARHHEE
fHiE BE 40, 180 40, 180
Al BB= 36, 660 36, 660
Rk B= 36, 660 36, 660
7 h= 1, 500 1, 500
o Yo 8, 244 8, 244
3 A 72,780 72,780
O BF¥ 11, 360 11, 360
o OEE 61, 580 61,580
hE EX 1, 500 1, 500
PR 88 71,010 71,010
*E = 29, 280 29, 280
R A 15,120 15,120
KE EPY 55, 780 55, 780
R BIX 66, 691 66, 691
Wi A= 14,720 14,720
WE  Ei 39, 980 39, 980
NI 68, 220 68, 220
HiE fE% 55, 920 55, 920
EE s 29, 280 29, 280
=% f@AmS 42,220 42,220
=i i 42,220 42,220
Bl EX 48,320 48, 320
tB HEE 42,220 42,220
B FH 6, 100 6,100
| =47 25+ | 897,545 of 897,545
<=FzBBE>
K4 BEBEKE | REXEBE | IRMEE

P 3,715 3,715 0
Bk AR 8, 930 8,930 0
AEH ¥E 3,715 3,715 0
wWE EZ 1, 500 1,500 0
JIE B 1, 500 1, 500 0
e —# 19, 740 1, 500 18, 240
B A 23, 080 23,080 0
g =kt 4,978 4,978 0
B BhZ 3,715 3,715 0
INE KE 444 444 0
AO B 26, 795 26, 795 0
stE s 3, 308 3, 308 0
BB 3, 308 3,308 0
- o= 3,567 3,567 0
EH =H 3,715 0 3,715
K AEB 22, 260 22, 260 0
| z%5 25 | 134270 112, 315] 21, 955|




Frc2 1 £33 AZXHhwE (245)

< B R FRGTHERER >

K4 AEFRE | REXEE | IRHER
Tl BF 15,120 15,120
e 15, 120 15,120
| it | 30,240 of 30, 240}
<UneEy>

K& SEEKRE | REXEE | IRHHEER
BiE AR 9, 460 9, 460
| it | 9, 460 of 9, 460]
| 24770 BEt] 39, 700{ 0] 39, 700}
<FEH>

K& BEEKRE | REXEBE | IRHHEER
i EF 444 444
INKE E£ET 32, 040 32, 040
B OEE 36, 860 36, 860
A HdH 444 444
At BF 444 444
EH DEE 32, 240 32, 240
A fEx 32, 240 32, 240
WA ST 65, 680 65, 680
WL #870 32, 440 32, 440
m# EKTF 42,220 42,220
B 42,220 42,220
NG BT 28, 408 28, 408
2R =# 53, 895 50, 180 3,715

[ =z 25+ | 399,575 50 180] 349, 395]

2R %
wE #Es 1,471,090 162,495] 1,308, 595






